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    c)   The root - mean - square voltage is always greater than the rectified average, because  squaring the current before averaging, then square - rooting to get the root - mean - square  value will always giv e a larger value than just averaging.    
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 and the voltage leads the current.     e)          
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 and the voltage lags the current.      
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 and the voltage lags the current.     e)          
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 Be  careful with radians vs. degrees in above expressions!      
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 Careful  with radians vs. degrees!      
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    e)   Because of the charge - storing nature of the capacitor, its voltage will tag the source  voltage. That is, the capacitor’s voltage will peak after the source voltage.        
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    In both parts (b) and (c), note that the voltage equals the sum of the other voltages at  the given instant. Be caref ul with degrees vs. radians!      
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        Note that as the angular frequency goes to zero, the power and current are zero,  just as they are when the angular frequency goes to infinity. This graph exhibits the same  strongly peaked nature as the light red curve in Fig.   (31.15).      
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    c)               d)   When the angular frequency is zero, the inductor has zero voltage while the  capacitor has voltage of 100 V (equal to the total source voltage). At very high  frequencies, the capac itor voltage goes to zero, while the inductor’s voltage goes to 100  V. At resonance, 
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      c)   Below are the graphs of the magnetic and electric energies, the top two showin g the  general features, while the bottom two show the details close to angular frequency equal  to zero.       d)   When the angular frequency is zero, the magnetic energy stored in the inductor is  zero, while the electric energy in the capacitor is 
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 EMBED Word.Document.8 \s [image: image49.emf]31.50:   a)   Since the voltage drop between any two points must always be equal, the  parallel LRC circuit must have equal potential drops over the capacitor, inductor  and resistor, so 
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    This answer is very sensitive to the capacitance so you may have to carry the first part  of the problem out to more signifi cant figures.      
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